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(C) #EN=&LBHA100kN/ MU T DX B DFEI D H DERKIEKN/M) (G) HIESHIMUTORIGEDHIED HDOZAEKRN/M) L nE S
(D) CONHHREEMIERATIHEEDLTRAEDEE(M) H) (N HZEEMIMERTIHEEDOLIAZEDEE(M)
HETIHLIYTADLIREZEDHDOKRES SEMNBAOETREFEOHOKRES

XNES s &

(A) (B) (C) (D) (E) (F) (@) (H) A (B) (©) (D) (E) (F) (@) (H)
(1) - - 61.9 10 - - 10.1 2.0 - - 58.7 10 - - 10.1 2.0
( 2) - - 90.6 1.0 - - 8.7 1.7 - - 90.5 10 - - 8.7 1.7
( 3) - - 90.6 10 - - 8.7 1.7 - - 90.5 10 - - 8.7 1.7
( 4) - - 65.2 1.0 - - 8.7 1.7 - - 59.5 10 - - 8.7 1.7
( 5) - - 67.7 1.0 - - 8.9 18 - - 59.5 10 - - 8.9 18
( 6) 121.7 1.0 99.2 1.0 - - 12.0 2.4 120.9 1.0 96.9 10 - - 12.0 2.4
(7) 128.2 1.0 99.1 1.0 - - 12.0 2.4 125.5 1.0 96.9 10 - - 12.0 2.4
( 8) 121.3 1.0 100.0 1.0 - - 12.0 2.4 121.0 1.0 96.9 1.0 - - 12.0 2.4
( 9) 121.3 1.0 100.0 1.0 - - 12.0 2.4 121.0 1.0 96.9 1.0 - - 12.0 2.4
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